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More Convenient Internet World

QIEYll OtAZ A0 A W2 S HigtEAICH

Let’s look at the bus stop through the lenses of Internet glasses.

O™ =0 O AFRHS 27t= HAO| st &7} LIEFEL|CE,

Then the information of the buses passing the stop appears on the lenses.

HA HZ2|0f| 42 AMEre| 7571 S EL|Ct

A pair of shoes that the person sitting next to you look great.

QIEYll QtES A O &2 OCIM & &= UE=R|, 7142 LOIRIR| = & 4~ JUS LT

When you wear internet glasses, you can learn where you can buy them and
how much they are.

O| 2& ZE7 QIELlof QJCHH TALICE
If internet has all the information.
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otoF 2o WfF0f| St= AFHO| D= ALHOl|A| Md3tE ZO0{0F StCHH, 1 mof| = ZHRte| A
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If a Korean needs to call an American because of [international] trade, they can
speak in their own languages.

2= daprt QUi HAEEO JOA AAs22 HAO| &f7| YL T
Because every phone hooked up with internet can do automatic translation.

O|Zi0] HA| ¢tz 22|2| Of2f 25 YL T
This is our future not so far away.

QEUIZ ARSI HFE7t QU0{0F ot= A F = HO| CH2R|27?
Isn’t it very different from now when we need a computer to use internet?

\

Notes

H : more
M3t : M3HCH + -(ending(relative clause; noun modifying))
QIE{Ull : the internet
M4 @ the world
OtAS : OtA(glasses) + -2 (objective marker)
M A (CH wear, put on + -1 (connective; and)
B4 bus
AeAS 82 + -2 (objective marker)
Biet=A|Ct : B2t (CF) + -2 A[CHending(propositive))
i) § then
20| : A2 + -Of|(marker; on)
1 :the
QIt=: 27K + -=(ending(relative clause; noun modifying))
A0 CHSH - A + -Of CHSH(idiom(about))
HE0}: Z*E + 7f(subjectlve marker)
LIEFEL|CE : LFC}H + -w L|CHending(declarative))
Azte|of °“'7~f3| + -Of|(marker; on)
or2 1 2k(Ch) + -2(ending(relative clause; noun modifying))
AHOl © At + -2 (marker; of)
TFEIt 5 + -7H(subjective marker)

2 EALICH: HA|(C}) + -0 20[(CH (modal aus.(to look/to seem)) + -u L|C}
(ending(declarative)

MO A (CH + -EH(connective; if, when)
2EE 5= + -E(objective marker)

O{C|A & 4~ UEZR|  {CIA + AHCEH + -2 £ (EhH(modal aux.(can/ to be able to)) +

A
(connective(if, whether))
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-2(marker; comparison)
Z|((to know) if, whether) + -&=(marker; also)

D HCH + -2 £ A(CH(modal aux.(can/to be able to)) + -&LICt
ending(declarative))

= :all of
A&7t A2+ -7t(subjective marker)
QUE{LlIOf : QIE{Hll + -Of|(marker; on)
UACHH LILICH: A(CH) + -C}H ZO|(C}) + -w L|CH(ending(declarative))
akof : if
29 20l : £F + w20 (because of)
St AFHO| : St= A2t + -O|(subjective marker)
O|= AFHOf|A| @ O|= AtE + -OfAH|(marker; to somebody)
HotE Z0oJoF L Ct: M3tE 4(Ch) + -0{0F SHCH (modal aux.(must)) + -& LIC}
(ending(declarative))
1 WOl : 11 ©f + -Of|(marker; at/in) + -=(marker; also)
2t29| © 2k} + -9 (marker; of)
AOIZ : A0 + -2 (marker; with/by)
O|OF7|5tH ELCt: OfoF7|3H(TH + -T =|(Cf)(modal aux.(to be okay, enough)) + -& L|C}
(ending(declarative)
H3t7} 0 43F + -7H(subjective marker)
QIE{Ullnt : QIE{Ull + -2 (marker; with)
AZZ|O] UOM  AZ=Z(T) + - Of ACH (O™ HEfC| 2| (S22 2
-0{ M (connective; because)
AL O 2 @ gutomatically
0| : 1Y + -0|(subjective marker)
7] EYUCE: = (T + -7| W2(because of) + -IL|CHending(declarative))
O|Z0| : O] + -O|(subjective marker)
HZ| o2 : H(CH + -Z| 9K (not) + -2(ending(relative clause; noun modifying))
22|19 : 22| + -2|(marker; of)
0l2ff : future
DEYULICH: 2F + -LCHending(to be; declarative))
QIE{UIZ : QIE{Yl + -S(objective marker)
A5 H : AFRSHE} + -2{% (connective; if someone intends to do something:--++*)
HEE{T} 1 ZEE + -7f(subjective marker)
QO{0f St= & U(CH + -0{0F 5T} (modal aux.(must)) + -=(ending(relative clause; noun
modifying))
2| 21h=: 2|2 + -2 marker; with) + -=(marker; comparison)
0| : much
Ct22|27 : Ct2(Ch + -2|2? (ending (for confirming))
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Comprehension Check-up
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1) & ) et3 3) et [E 1]
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Conversation

o

OHEHZ[: A L|OF, BHA| E&=0] 7t2{™ O{Z A 7IOF Z|L?
Father: Sunny, how can | get to Baekje broadcasting company?

ML BHY HER? HE A DEN=HL. AHZF QEUI0A SHH 20E A 2.
Sunny: Baekje broadcasting? | don’t know. | will look for it on the internet.

OHHHZ|: QIE{HIC R R|E & & 4 QL?
Father: Can we see a map on the internet?

ML OEe 7k 7|C2[H|2. OfH{Z], 07| /JA02. BN !
Sunny: Sure. Wait a second. Father, here itis. Look!

OfEHZ]: OtO|t, Z[E=7t A& 20t & QF HO|==Lt. . Z 32 = & §iLI?

Father: Oh, | can’t see well because the map is too small. Can | see a bigger map?

M L 3AH Ea{H 0|2 SEStA|H e,
Sunny: To enlarge, you can click this.

OtHZ|: O 2t ™e|stELt
Father: It is so convenient.




Notes

S| S0 A HE= + -0 (marker; to)

7t24® @ 7HC}) + -29% (connective; if someone intends to do something)

o€ : how

710k &4 ? : 7HC} + -OFoF E[(C}) (modal aux.(must)) + -L? (ending(plain style;
interrogative; &= OFSHAHZHOf| A))

& A + -Z(marker; also)

2 well

2EEHe  22(0) + -F(pre-ending (=8 EHE BEF)) + -=0[2(ending(because €
connective)

M7 - A + -7Hsubjective marker)

QIE{UlION A : QIEJUll + -Of| A (marker; at/in)

ot once (but it is used to express that someone is going to ‘give it a try’, not just do it
once)

202 A2 : 2OLE(CH + -2 A2 (ending(for promising, intending))

OIE{UIo 2 : QIE{Ull + -2 2 (marker; by/ through)

Z|EE : X Z + -E(marker; also)

=4 UL? 1 E(C}) + -2 £ JA(ChH(modal aux.(can/ to be able to)) + -L|?(ending(plain
style; interrogative; 2 Of2HALZH0]| A|))

adL : OH(sure/of course) + -2 (marker(polite))

2788k - 27 + -OF(marker; just/only)

71Ck2|MI2 - Z|Et2|(Eh) + -MI2(ending(imperative))

OtHHZ| : father

7| AL : here it is.

2N : E(C}) + -M2(ending(imperative))

O}O|=* : oops

A=t A= + -7}(subjective marker)

HS : too much

2t0FAM : 2H(C}) + -OFAM (connective; because)

2 well

ot not

B0+t EO|(T}) + -==tLt(ending(exclamatory))

Z abit

3AA : 2(E} + -Al(ending(making adverb))

= 4 QL ?  E(CH + -2 4 S(CH(modal aux.(can/ to be able to)) + -L|?(ending(plain
style; interrogative; &2 O2HALZ0]| A|)

22{® : B(Ch) + -2 (connective; if someone intends to do something)

0|Z: contracted form of 0|Zd& : 0| + -2 (objective marker)

Z2I5tAH He : 22ISHTH) + -Al(pre-ending(honorific)) + -2 &|(CH(modal aux.(to be
okay, enough)) + -0{2(ending(declarative))

A :that

2t so

Ma|st7tL} - M2|5HCE + -l (ending(exclamatory))



© Comprehension

1. O A= WA HE=0f 7toF s, (T/F)

5.7

2. QEUICZ2 AEE E £ AN (T/F)
=TT

© Vocabulary

WE4CH BHAE o] 2hekat 2 E 03]
A bus A= map

A5t : subway, metro S east

7|2} train MZ  west

H|3H 7| : airplane =2 : south
45232k (bus taxi) stop £Z ! north
A5t : subway station REZ :right side
& D airport 2I% : |eft side

717|2 Modt m 2 M0|= HEA}

- OO

M3} : to be comfortable

H2|3IC} : to be convenient

T 2|C} : to be cool, awesome

Ct2Ct : to be different

E23IC} : to be complicated

7} to be light

S H3IC} : to be inconvenient, uncomfortable
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© Explanations
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=otal ZAZ|A| ZS HEIL= ET0|Ct.

1. -2 &[CH/-H £[Ct
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© Exercise
1A RZ5tHEHR? 3.A: S Eesl?
B: B:
1) otL{ L, &72tet 7[Ci2|M L. 1) OfY, & 7HZ2t A0,
2) 4|, 2|3 5t 2t L. 2) OfY, StLIZH AT &f,
3) OtH L, Az StML. 3) OfY, & 7§ Cf E sl
[E1] [E2]

2. A OfEA s AMO|UAH S5 + A0K? 4 A &0 7t oA

B: 710F S R?
1) MOIUAA SE5HEH AdS & = AHol2. B:
2) MO SF5t= O o292, 1) A 2ollM fFR2=2 M 2.
3) MOIUA STt H 2172} Z0[ SHA 2) &0 71 He.
2. 3) A2t B0l L2222
[E3] [E1]



Writing
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